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1. (@) rafdt P MUHAR, SRele H wfaftedt S M, e
q. onfe w1 & forg aifdRad ww fear mar 2
@) =9 ¥ T 999 & e SRRl @ meE-gRdeT
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TR PR 8, o WNenfil o \od e omar ® b 9
Icar—de § vfafteal o wRd T [ A 9 9d Dy
e T W
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o A fordd /sifda x|
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6. % B 39 TE-YRAaP & MuiRd @rell gl § swar s
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1. (a) Candidates are allowed time to fill up the basic information
about themselves in the OMR sheet such as Name, Roll No.
etc.

(b) After this, question booklet will be given to the candidates.
Tally the number of pages along with no. of questions printed
on cover of the booklet in case of any discrepancy please get
the booklet changed immediately.

(c) Answering of question is not allowed in the given extra time.
Two hours time will be given for answering.

2.(a) On Answer Sheet, supplied to you write input Roll No.,

Que. Booklet No., Set of Question Booklet (A,B,C or D).
Name of Candidate, Signature of candidate, Date of Exam, in
Blue or Black Ball Point Pen.

(b) On Answer Sheet till in your Roll No., Que. Booklet Set and
Centre Code etc. by darkening corresponding circle O with
Blue or Black Ball Point Pen.

(c) On Answer Sheet only the answers to questions are to be
marked. The instructions for this are available on the back
cover page of the question booklet.

3. Optical Mark Reader (OMR) machine prepares the result by reading
the entries made in the circles O will the Blue or Black Ball Point Pen
on the Answer Sheet, hence the candidates must be extremely careful
in marking these entries and must not commit errors.

4. Please do not write mark on Answer Sheet anything extra except

what is asked for.

5. USE OF ANY CALCULATOR, LOG TABLES, MOBILE
PHONE ETC IS PROHIBITED.

6. Rough work should be done on the blank pages or in the space
provided for this on each page of this question booklet. Extra
paper will not be supplied.

7. If there is any sort of mistakes discrepancy (in Hindi or English
Version of the question) either of printing or of factual nature then
regarding this Institute no action will be taken on any type of
representation complaint as stated above.

8. After the completion of the examination, no action will be taken on
any representation/complaint regarding the above.

(Note: For Instructions regarding marking the answer please

see the Last page of this question Booklet.)
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(Instruction Regarding Method of Answering Questions)
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(Please Use Black Ball Point Pen Only)

1. Method of Marking Answer

To give an answer, please darken one bubble out of
the given four, inthe OMR Answer Sheet against that

question.

. Valuation Procedure

There are four answers to a question, only one of
them is correct/ nearly correct. 02 marks will be
awarded for each correct/ nearly correct answer
and 1/3 mark will be deducted for each wrong an-
swer. [f more than one bubble are darkened for a

question, it will be treated as wrong answer.

. Handing over of Answer Sheet to Invigilator:

(1) Please ensure that all the entries in the answer
sheet are filled up properly i.e. Name, Roll No.,
Signature, Question Booklet No. etc.

(1) Before the limitation of 2 Hours duration while
leaving the examination hall, hand over the ques-
tion paper to the invigilator. If needed after du-
ration of period, you can ask for your question
paper from the Centre Superintendent.

. Care in Handing the Answer Sheet.

While using answer sheet adequate care should be

taken about tear or spoil due to folds or wrinkles.
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Q.1. < &cH A R BH RuRRe &R uri &1 fAstor wHer: 5 Q.1.  Two vessels A and B contain spirit and water mixed in
23R 7:6 % U H e | g C H 8 : 5 T the ratio 5 : 2 and 7 : 6 respectively. Find the ratio in
# RaRe siik g b T a1 frsror gt v & forg which these mixtures be mixed to obtain a new mixture in
& fston o1 fow srdard # fRyerran ST, g A AR vessel C containing spirit and water in the ratio 8 : 5?
(@) 4:3 (@) 4:3
(b) 3:4 (b) 3:4
© 5:6 (c) 5:6
@ 79 ) 7:9

Q2 R Ul & 30 offe” FsT H 703 st # Q2. How many liters of water should be added to a 30 litre
fapa efiex uril fieTrar ST =nfey drfes oo fsmor mixture of milk and water containing milk and water in
H 40 gferera iy &1? theratioof 7 : 3 such that the resultant mixture has 40%
@) 5 water in it?
) 2 @ 5
© 3 (b) 2

© 3

(d 8 @ 8

Q.3 20 iR =17 ¥ gy 3R Ul 7 31U 3 : 1 8 | fAsror Q3. 20 litres of a mixture contains milk and water in the ratio
# fAarg S arelt < B AT MG DITSTY, ATfh g SN 3 : 1. Then the amount of milk to be added to the mixture
gl BT U 4 @ 1 B S0 so as to have milk and water in ratio4 : 1 is:
() 7 R (@) 7litres
(b) 4 ofiex (b) 4litres
ORASIEN (c) 5litres
(d) 6 ey (d) 6litres

Q4. TS AR & U 1000 fharum™ A 8, 5191 B8 | Q4. A merchant has 1000 kg of sugar, part of which he sells
AT 98 8 RTT o WX 3R WY 18 FTT o W at 8% profit and the rest at 18% profit. He gains 14% on
T & S el ATy 14 U $1 T R 8 | the whole. The quantity sold at 18% profit is:
18 UfTeTd &9 WR I TS ATAT 8—
@) 400 R (@) 400kg
(b) 560 fu (b) 560kg
(c) 600 fauT (c) 600kg
(d) 640 fopur (d) 640kg

Q.5. faysror & © 3R g BT 3IUT ARl 4 : 3 T ofe $9 | Q5. Therespective ratio of milk and water in the mixture is 4
fasror # 6 offex ur fHemar Sirar g, o B 3R T : 3 respectively. If 6 litres of water is added to this mix-
CARSCIC] 3UTd 8 1 7 B ST | T fRrstor # g Bl ture, the respective ratio of milk and water becomes 8 : 7.
AT AT 8°? What is the quantity of milk in the original mixture?
(a) 36 ey @) 36litres
(b) 48 efleR (b) 48 litres
© 4 X _ () 84litres
(&) FTH A PIE T (d) None of these
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Q6. TS b 1 ufe av 15% HIEROT &7 WR 3600 U Q.6. A farmer borrowed Rs.3600 at 15% simple interest per
QYR feT0 | 4 Al & 7T #, I 4000 T IR TP annum. At the end of 4 years, he cleared this account by
T T gdr FRD T @ Pl A R o | paying Rs.4000 and a cow. The cost of the cow is :
BT R 8?

(@) Rs.1000
(a) 1000 HUY
G 1200 T (b) Rs.1200
© 1550 T (© Rs.1550
@) 1760 BT (d) Rs.1760

Q7. TF @ 2 a¥ & 1Y 4 URRIT URY a¥ WER @I Q.7. A person borrows Rs.5000 for 2 years at 4% p.a. simple
TR 5000 TUY IR o[l & | I8 R 39 g% Afh Pl interest. He immediately lends it to another person at
2 91 & ferg 6% gfer 9§ R YR <ar & | ufT 99 ure 6% p.a. for 2 years. Find his gain in the transaction per
T I EIT? year.

(a) 11250 SO (a) Rs.112.50
(b) 125 BW (b) Rs.125
(c) 150 THA (¢) Rs.150
(d) 167.50 BT (d) Rs.167.50

Q8. TS fIf¥ed W R 7 avf & qre 1750 SUY DT ALRYT Q.. A certain amount earns simple interest of Rs.1750 after 7
ot fyetdr & | afe <t 2 uforerd ifdres gram ar faar years. Had the interest been 2% more, how much more
e =T fyerar? interest would it have earned?

(a) 35 ®W (@) Rs35

(b) 245 FTY (b) Rs.245

() 350 3T (¢) Rs.350

(d) T3 2 | (d) data is inadequate.

Q.9. TRV &S & U {Af¥ad a¥ R 4 9uf & 6000 o0 | Q9. Rs.6000 becomes Rs.7200 in 4 years at a certain rate of
7200 SUY B 914 2| Ife <X WI 9 15 LGl HESIE) simple interest. Ifthe rate becomes 1.5 times of itself, the
qr 5 98 # I geru @t afy Eefi- amount of the same principal in 5 years will be :

(a) 8000 HUY (a) Rs.8000
(b) 8250 TUY (b) Rs.8250
(c) 9000 BT (c) Rs.9000
(d) 9250 TUY (d) Rs.9250

Q.10. A ¥ B®I 2 9§ & foIv 5000 TUY 3R C BT 4 99 & | Q10. A lent Rs.5000 to B for 2 years and Rs.3000 to C for 4
o0 S <I1oT 8% ON 9IERYT 75T TR 3000 B3 YR years on simple interest at the same rate of interest and
fRr ik <ol @ wU § S A1 9 Byl ey 2200 received Rs.2200 in all from both of them as interest. The
>0 U v | ufq 9 &7 €% 2— rate of interest per annum is:

@@ 5% @@ 5%
(b) 7% (b) 7%
(©) 65% (c) 6.5%
d) 10% (d) 10%
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Q.11. 2800 YUY W 18 HeH & foTg 10% W a¥ @1 &% & | Q.11. The compound interest on Rs.2800 for 18 months at 10%
ﬂ?@ﬁ&' TSl 5— per annum is :
(a) 420 374 (a) Rs420
(b) 434 374 (b) Rs434
(c) 436.75 TTY (c) Rs.436.75
(d) 44135 9 (d) Rs.441.35
Q.12. TH ITeH a;@ﬁ&r TSl O 3 Tl & forg 4000 393 | Q12. Aman invests Rs.4000 for 3 years at compound interest.
BT 99 HRAT & | U 99 B 91 gRTT 4320 B9 & After one year the money amounts to Rs.4320. What
T ¥ | 3 A B fT F T AR (e TR ) 7 e will be the amount (to the nearest rupee) due at the end
(a) 4939 ST of 3 years?
A
(b) 5039 TT @) Rs4939
(b) Rs.5039
(c) 5789 TUY
o () Rs.5789
@ 6129 (d) Rs.6129
. 1
Q.13. dIf¥e U I AT 62% qIf¥eh TIhgfey TSl Bl <R Q.13. The principal that amounts to Rs.4913 in 3 years at 6 %
¥ 3 Il 7 b qerer 7 R 4913 T A per annum compound interest compounded annually, is:
() 3096 BUA (a) Rs.3096
(b) 4076 BUA (b) Rs4076
(c) 4085 BU (c) Rs4085
(d) 4096 BT (d) Rs4096
Q.14. STEIRYT TS UR 6 98T # U ¥ # 60 uferera @1 gfg | Q14 There is 60% increase in an amount in 6 years at simple
Bl 2 S ¥ WX 3 9¥ 915 12,000 DU BT ?l'sb_c‘rﬁ&' interest. What will be the compound interest of Rs.12,000
TS AT BIIT? after 3 years at the same rate?
(a) 2160 BT (a) Rs.2160
(b) 3120 TUY (b) Rs.3120
(c) 3972 TUY (c) Rs.3972
(d) 6240 TTY (d) Rs.6240
Q.15. ﬂwﬁ&- TS TR TP GRIRT 15 98t # ajl:ﬁ a1 oy | Q15 Asum of money at compound interest doubles itself in
21 uE s T foraey aut & =rfi? 15 years. It will become eight times of itselfin :
(@) 45 a9 (b) 48 ¥ (@) 45 years (b) 48 years
(c) 54 ¥ (d) 60 @ (c) 54 years (d) 60 years
Q.16. TS =T W p% 3R q% Bl ST BE 59 taHd BT Q.16. A discount series of p% and q% on an invoice is the
P TN 2P same as a single discount of
+qg+—— % (@) {p+q+—}%
@) {p 1 100} !
pq + %
®) {p—éﬁﬁ}% (b) {p 1 100}
0
© 100 — {p+q+10 }/ (¢ 100 - {p+q+10 }A)
d) =79 QA IS T (d) None of these
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Q.17. TP HM Al 9] BT @I U= 10 URTeT @1 g <l | Q.17. A shop gives 10% discount on the purchase of an item.
HRIE TRA b YT foar Srer ©, @ 12 ufrerd @ If paid for in cash immediately, a further discount of 12%
fafeh Be &1 Sl 8 | Ife 9% DI o DA 250 is given. Ifthe original price of the item is Rs.250, what is
PYY B, Al TPhe WNIE B R a% DI DA a1 87 the price of the article if a cash puchase is made?

(@) ®.190 (a) Rs.190
(b) ©.195 (b) Rs.195
(c) ©.198 () Rs.198
(d) %.200 (d) Rs.200

Q.18. U STk 7 25000 ¥ SHfehel Hod Bl a Bl 20% Q.18. A dealer buys an article marked at Rs.25000 with 20%
q 5% g2 @ W1 WA 8| T8 W ARHT TX 1000 and 5% off. He spends Rs.1000 on its repairs and sells it
ﬁ?@?ﬂ{iﬂ? _;f;f_l(_)go o G | S for Rs.25000. What is his gain or loss percent?

(@) 25% @ IhY (@) Lossof25%
(b) 25% BT T (b) Gain of 25%
(c) 10% I BT (¢) Lossof 10%
(d) 10% T T4 (d) Gain of 10%

Q.19. T TR A 3R BUSH 9 @I A HI 99 w4 4 | Q.19. Two stores A and B mark the price of an item identically.
3ifhd FRA | A TP 10% DI 3 D B DI AN A allows 3 successive discounts of 10% each. B allows
T2 | B G4 o8 TR 10% @I B2 AR A 918 19% 10% discount on the list price and a subsequent dis-
B! G BT AR <l & | 39 gRReferl 3, Fefafad count of 19%. Under the circumstances, which of the
H A HF A I 87 follows is true?

() TG DI HIFT A R K © | (a) The price of the article is cheaper at A.
(b) IXG BT BHT B W WA T | (b) The price of the article is cheaper at B.

(c) TE DI BT A 3R B R FAM 2| (c) Theprice of the article is same at A and B.
(d) T FeiRa &t @1 ST aad | (d) The price cannot be determined.

Q.20. Afe 3ifea Hed WX, 30 gfererd @t e 3R 20 yferera Q.20. Ifon amarked price, the difference of selling prices with
3R 10 Tfcrera @1 <1 HiAS v % A1y fawa Hed T a discount of 30% and two successive discounts of 20%
IR 72 WY g, A1 Sifhd qou (BU H) B and 10% is Rs.72, then the marked price (in Rs.) is:

(a) 2400 (a) 2400
(b) 2500 (b) 2500
(c) 3000 (c) 3000
(d) 3600 (d) 3600

Q.21. @Y 2007 BT Defex fbd ¥ & g warE Brm? Q.21. The calendar for the year 2007 will be the same for the year:
(a) 2014 (a) 2014
(b) 2016 (b) 2016
(c) 2017 (c) 2017
(d) 2018 (d) 2018

Q.22. @ 2000 BT Borex frw ¥ B WA & B Q.22. E;e ;:;lf:ndar for the year 2009 will be the same as that of
(a) 2013 (a) 2013
(b) 2014 (b) 2014
(c) 2015 (c) 2015
(d) 2016 (d) 2016
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Q.23. frfeRad & & @9 a1 <fig 9§ =7&f 87 Q.23. Which of the following is not a leap year?
(@) 700 (b) 800 (a) 700 (b) 800
(c) 1200 (d) 2000 © 1200 (d) 2000

Q.24 Eﬁ%ﬂ;ﬂ ﬁ?c*'ﬁ ® QTH’% Q;QZI'I’G} t”; He 019 & Q.24. London time is five and a half hours behind Delhi time.
T 235 YT E ST A S¥t S What time is it in London if it is 2 : 35 in Delhi?
(@) 07 : 05 (@) 07:05
(b) 08 : 05 (b) 08:05
(c) 21:05 (c) 21:05
(d 21:35 (d) 21:35

Q.25. U@ U @ HS arell g 72 ©S F e =@ qx | Q25. How many rotations will the hour hand of a clock com-
H? plete in 72 hours?
@ 3 (b) 6 (@ 3 (b) 6
©) 9 d 12 () 9 (d) 12

Q.26. IRPH TR BT 3R 20 Hex 71 | fHR a8 ¥ T 2 | Q.26. Rasik walked 20 m towards north. Then he turned right
3IR 30 HeR Fefdll & | fhR I8 <T¢ g1 © iR 35 HIe” and walks 30 m. Then he turns right and walks 35 m.
Ferd € | fooy g a7l 3R Jedt & 3R 15 HIex efdl Then he turns left and walks 15 m. Finally he turns left
EIENCERRIEIN sl & 3R 15 I Tl & | and walks 15 m. In which direction and how many metres
I8 IR Refd 4 far e # &iR foae dier & . . .
o & is he from the starting position?
(@) 15 ¥rex aREm (@) 15 m West
(b) 30 Hex EET (b) 30m East
(c) 30 Hiex U= (©) 30 m West
(d) 45 Hiex gd (d) 45m East

Q.27. fdg X A T® oxab, SRI 15 Hiex ufdad @t iR = | | Q27. Starting from the point X, Jayant walked 15 m towards
Ig It 3R T 3fR 20 Hiex Fa | fR 98 9t ol west. He turned left and walked 20 m. He then turned left
T 3R 15 WX Tl | D d1E I8 AU T8 3R HT and walked 15 m. After this he turned to his right and
3R 12 Wex TeT | 319 Sa=a X ¥ fha+ ) &R fors walked 12 m. How far and in which directions is now
e # 27 Jayant from X?
(a) 32 Hiex, <feror (@) 32m, South
(b) 47 HIey, tlj (b) 47m, East
(c) 42 HIeR, IR (c) 42m,North
(d) 27 Hiex, <feror (d) 27m, South

Q.28. Uh TTSHI U WIfdhel STR dT 3R Forre 8, fow Q.28. A boy rode his bicycle Northward, then turned left and
BN Jedl & &R 1 el Frererm 8 3R v arit aiv rode 1 km and again turned left and rode 2 km. He found
Gedl & 3R 2 foHll efal & | S Y BT 30 ARAS himself 1 km west of his starting point. How far did he
ﬁr‘:& 1 fH) afRem & grar | 9 H SE SR 9 SR ride northward initially?
foal 0 T H1? @) lkm
(@ 1 foe (b) 2km
(b) 2 fos (©) 3km
(©) 3 o ) 5km
(d) 5 foeT
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Q.20.

DB AU BR H 15 AT IR BT 3R Fem 137 | R
I8 uftad @I 3R o iR 10 B =er | fR a8 sfaror
B 3R ST AR 5 fHHT =l | 3 § g BT AR Db
I 10 fHHT B 0 TF BT | T8 370 =R I b faem
q 2?

(@

(b) uf¥=H

(€ ST

(d) wferor

forder (30 & 33): 377 fA=IfoRad weal &1 HH H gaRerd

Q.30.

Q.31.

Q.32

Q.33.

Gad

fopare : wax = dfeT: ?
(ESHER!

(b) <R

(¢ <

) ¥

IRAT : BhS : : Dolfdedrgied : ?
(a) sl

(b) <I1q

(c) 3

d)

W:W::W;?
(a) IRRS =T

(b) TIR® UfeRT

(c) ¥

(d) B TDT

1 wreal BT 8 I T |
1. 3G 2. GE 3. 71 4. 8IS 5. q1A
@ 5 1,3 4 2

Q.29.

From his house, Lokesh went 15 km to the North. Then
he turned west and covered 10 km. Then he turned south
and covered 5 km. Finally turning to the east, he cov-
ered 10 km. In which direction is he from his house?

(a) East

(b) West

(¢c) North

(d) South

Direction (30 to 33) : Solve the word analogy:
Q.30. Book: Cover :: Painting : ?

Q3L

Q3.

Q.33.

(a) Example
(b) Wall
(c) Colour
(d) Frame

Asthma : Lungs : : Conjunctivitis : ?
(a) Bones
(b) Teeth
(c) Eyes
(d) Blood

Thermometer : Temperature : : Glucometer : ?
(a) Body sugar

(b) Body resistance

(c) Blood

(d) Blood sugar

Arrange these following words in sequence.
1. Eye 2. Chin 3. Nose 4. Lip 5. Hair
@@ 5,1,3,4,2

(b) 5 1,2 4,3 (b) 5,1,2,4,3

© 4 32 1,5 © 4,3,2,1,5

) 1,2 4 35 d) 1,2,4,3,5
fen (34 ¥ 37) : waraH fawey T | Direction (34 to 37) : Choose the best alternative.
Q34 26 :5::65: 7 Q34. 26:5::65:?

(@) 6 (@ 6

(b) 7 (b) 7

(c) 8 (c) 8

d 9 d 9
Q.35 21:3::574:7 Q35. 21:3::574:?

(@ 23 (b) 82 @) 23 (b) 82

(© 97 (d) 113 ) 97 (d) 113
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Q36. 14:9::26:? Q36. 14:9::26:7?
(@ 12 (b) 13 (@ 12 (b) 13
(c) 15 (d) 31 (c) 15 (d) 31
Q37. 8:28::27:? Q37. 8:28::27:?
(@ 55 (b) 63 (@ 55 (b) 63
(c) &4 (d) 65 (c) &4 (d) 65
Q.38. FUT— {E fAfeerdl I8 & | T TGS 79 & | ¥4 | Q.38. Statements: Some Cats are Rats. All bats are tables. All
iﬁ ELUITS] = Rats are Bats.
ferepy— Conclusion:
L o fafeerdl ames € L Some Cats are bats
I & Tes 98 © II. Al bats are rats
I ot <9 fafeerat € III. All tables are cats
V. a4 gTTes fafeear & IV. All bats are cats
we - Code:
(a) da 1 3R 11 AT Pl 8 (a) OnlyI&II follow
(b) ®aet 11 ATERT HaT B (b) OnlyII follows
(c) ®ad I 3R IV ERTT I © (c) OnlyI&IV follow
(d) T8 I PIg Tl (d) None of these
Q.39. YT : | g, drec €1 o Eﬂw [ 2 | %Y | Q39. Statements: Some ships are boats. All boats are subma-
I, Idfe € rines. Some submarines are yatches.
frepy— Conclusion:
L $B dlc, dcd | I Some yatches are boats.
. &% G99, 9cF 2 | II. Some submarines are boats.
I z;ga IR, fQTq T II. Some submarines are ships.
I\ z;ga gie, By & IV. Some yatches are ships
6he :Q Code:
(;) 47 JTTERTT ErGHR (@) Allfollow
(b) ®aa I 3iR 111 JTTERTT BT B (b) OnlyIIand II follow
(c) ®ad 1l QTTHARIT Rl 2 (c) OnlyllI follows
(d) Hael IV R Hxal © (d) OnlyIV follows
Q.40. Tr— afl o veft €| o el Mok € | |t | Q40. Statements: All Carrots are birds. Some telephones are
vsefic Sl £ | Carrots. All bedsheets are telephone.
fersep— Conclusion:
L o Jeufic wef § . All bedsheet are birds
I %8 Je3iic wefl & II. Some bedsheet are birds
. §B Uel Sl & II. Some birds are telephone
V. 1 Sl vl IV. All telephone are birds
P - Code:
(a) ®act [ RO I §, (a) OnlyI follows
(b) Haet 11 ITHROT el B (b) OnlyII follows
(c) ®adt I 3R I FTET I © (c) OnlyIand III follow
(d) Hael Il TFART AT & (d) OnlyIII follows
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Q.41. UA— I IRt yaTef S € | Ead o T €1 9 | Q41. Statements: All liquids are solids. Some solids are gases.
T 915 € All gases are clouds
forsms— Conclusion:
L O dcd 39 © L Some clouds are solids
. §BW ded kel uared § Il.  Some clouds are liquids
. %» T d_A . Some gases are liquids
IV. §B 319 96l © IV.  Some solids are clouds
we - Code:
(a) PIE HI ITTRVT TE T B (a) None follows
(b) ®aat 1 3R 11 AT B B (b) OnlyIand II follow
(c) ®adl I 3R IV R I & (c) OnlyIlland IV follow
(d) ®ad I 3R IV R I © (d) OnlyIandIV follow
Q42 ASIRBYE & C3R D 98+ &1 A & 91 D BT 4TS | Q42. Aand B are brothers. C and D are sisters. A’s son is D’s
2. B, C ¥ &9 ysR Hdfra 87 brother. How is B related to C?
(a) foar (a) Father
(b) S (b) Brother
(c) == (¢) Uncle
(d) <TeTSI (d) Grandfather
Q.43. Tdh Bl BT 3R EXNIN GG 8T, fearer 9 @l SHD Q.43. Pointing at a photo, Dinesh Said, “His father is only son
foar 3 #f & sdheld g &1 98 WieT 8- of my mother.” The photo belongs to :-
@) ferer (@) Dinesh
(b) fe=ier &1 91 (b) Dinesh’s brother
() fesrer & foem (c) Dinesh’s father
(d) fe=rer &1 Fer (d) Dinesh’s Son
Q.44. U ITEH & 5 & W@J gY, AT 71 &Hal, ST A Q44. Looking at a portrait of man, Sanjay said, His mother is
IR A S A 9 N 2 | IRT PIE 9IS A7 T8 o T the wife of my father’s son. Brothers and sisters I have
2| oy Forge Tk &% <ET &, g8 o none. “At whose portrait was Sanjay looking.”
(a) SGHT IT (a) His son
(b) SFHT ST (b) His nephew
(c) DT TRRT 1Y (c) His cousin
(d) SqS T (d) Hisuncle
Q.45 TfE A, BAR K &1 91€ &, D, B @ 4 € 3R E, Al Q45. IfAisthe brother of Band K, D is the mother of Band E
frar & | fFr=fafRad § 9 o9 91 99 fA¥ag ©u 3 is the father of A. Which one of the following statement
g T8 2 is not definitely true?
(@) B,K®T9E e (@) Bisthe brother of K
(b) A, KT far g (b) A is the father of K
(¢) A,D®TdeT 8 (c) Aistheson of D
(d) D,E & el @ (d) Disthewife of E
Q.46. AR TP FReR 2 Q.46. Communication is a non-stop
(@) BT (b) T (a) Paper (b) Process
(c) PHHH (d) I (c) Programme (d) Plan
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Q.48.

31T T & # URTET WiAaRoT & W § | 1Ias &

# Agd gHTIRN & Al 9gd Sff I8 B, MY Heil—

(a) dTEAl & TEREE & foIg A 99 ar] BT |

(b) IR Yo B M oot B arel bl
ST HRA BT QY S|

(c) STTHAR AT BT SUANT FReb> GRIE ATAT BT
HIL AT |

(d) SECAT F9IFIT Il IR 1T gferaanHal b
AT T |

Q.47. Communication is a part of skills.

QA48.

(a) Soft
(b) Hard
(¢) Rough
(d) Short

You are head of transport authority in an urban area.

Cases of road accidents are increasing in your area.

You would:

(a) Impose strict rules for maintenance of vehicles.

(b) Order the traffic police to punish violations.

(c) Spread the message of safe travel by using mass
media.

(d) Deploy traffic policemen at accident prone spots.

Q.49. 319 TR g b ey B Reify e arell |ffifey & | Q49. Youare the chairman ofa committee looking into health
3FeeT 7 | MU T b el e H Huifd 9= & | §9 status of poor children. You find that there are a large
TRT BT Iele & ol 39 ST U8l HeH IoTq a8 number of undernourished children. The first step that
7 BT you would take to reverse the trend would be to:
@) W PR PN R @ | (a) Increase the rate oftax on the rich.
(b) F=di & ATAT—TIAT & ASHTR B ST HRAT | _
- _ N (b) Arrange for employment of parents of children.
(c) el H T T I B AR 1T B GHTI A PO oo Do meals ot schools and givesulihy
) ¢) Introduce free meals at schools and give subsidies
|feast < |
(d) w—ﬁ?ﬂ’ Em_ = F Eﬁ m F E% E‘ﬁ ﬁ [;E f@ 1n ration ShOpS.
I (d) Educate parents about good nutrition for children
Q.50. 3T Uah ufafed Wrew & el & s B guf & | Q50. Youare the CEO of a reputed organization. In the past
HIA AR ATHA TN TBR & HIAT B forg AldHey few years the job market has improved for both skilled
TIOR3 GoTR 83T © | AT 9 AMA! BT oAdhR fiferd and semiskilled personnel. You are worried about cases
& el HHan faAT b EE? T & A & 4 Tl where workers tend move between jobs without prior
S & fore @l N BN & | 39 Y1 notice thus causing losses to the company. You would:
@) FIR= il (a) ask the HR department to draw up a list of irre-
IR &R+ & forg gl d1fds S RaeTh
P Il N § sponsible employees so that strict action can be
IR BN é ST |
. . taken against them.
(b) FHHATRAT BT Bl o & foy T 1 a1 |
© TN By S T - (b) make strict rules for the staff for leave taking.
c) e Jgel HHATRY B
G T (c) ask the staff'to sign contracts before joining.
(d) T FARIT BT TR B | (d) ignore this problem.
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Qsl.

Q.52.

Q.53.

Q4.

Q.55.

Q.56.

Q.57.

f=ferRad & & &9 a1 vsg Rexfoaras foar fagrgor
e
(a) @R
(c) e

(b) &
(d) Tl

fr=faRad & 51 e a1 Zre Afdarers fohar fagyor 87

(@) STgHd (b) P
(c) IsHq (d) SR T
gAferd HIfTg—
A1 (e ) -2 ()
A. PIfcT 1. uarad
B. &g 2. AHIATAH
C.  3fIdr 3. _AAERS
D. R 4. goERS
R

A B CD
@ 1 2 3 4
b 2 3 4 1
© 3 4 1 2
@ 4 3 2 1

fefeRad & & B9 A1 wea T YD © 7
(a) 33 (b) fa=T
(©) Mg (d) g

fFrfoRad § § 319 91 I IS Gad U= © ?

(a) a= (b) R

(c) &R (d) f"=

"add” eeq BT fawal H aar aref g ?

(@) T8 (b) ST &

(c) adiRbaM  (d) 378 & IS &I
“gR AIaR B B, 59 a1 H Wy w18 7
() I S (b) W ATH

(c) I 9RIH (d) afy aerw

Q62.

Q.63.

Q64.

Q.65.

Q.66.

Q67.

@ 1
(b) 1
© 1
d 1

I N N N o)
W oA WA
AWNWU

SART Ul BT 7 3ref § ?
(a) a1 gad U uaref

(b) IR Jad U gt

(c) ST&x g Ud uaref

(d) 379 I BIg el

ARI &7 FAT @1k 7 ?
(@) SR ¥ Fear T (b) GEGE]

(c) T I (d) ST | BIS TRl

"TIgaT o T red qar ' ?
(a) TR BT (b) &R T
(c) T (d) STl HATT

BRI ART B T Ad R R ?
(@) MTIRAET & (b) gu Ul T |
() MATARE] (d)I N RAET B |

§Tar ereg fosg 9reT & forar T 87
(a) onfear (b) TRIST
(c) el (d) =YaTeft

gifer B
-1 (e w) -2 (Si)

Q38. FmfoRad # & @ &1 s FHAIRIGRY AT A. G 1. eI
qereh e B 7 B e 2. el
(@) WX (b) TR A C 9= 3. WRIST
(c) 93 @r (d) a, b3iR ¢ =T D. 3fdHR 4. =areh

R

Q.59. Y=, ARG, T<Id fhd UhR & ¥g § ? A B CD
(a) Nifcrareren (b) FHzAIRTAD @ 1 3 4 2
(c) IerdTaD (d) AfERT b) 1 4 3 2

Q60. Tr=ifeiRad & & P 1 ¥rea SrqerRoTdTS AT & ? (© 3 2 41
(@) o (b) & @1 2 43
(c) a1 (d) ST & T
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Q68. A foRad # 3 DI AT BRIRTTG! ITea |ATell | M 87 | Q.75. frfaRRad # & &I w1 wres Rerfaares fhanfaggor 22
(a) 3MHT (b) TR (a) SIS (b) THST
(c) @Rar (d) s | ft (¢) adiRbaHAl  (d) =
Q69. FITCrReT # & P11 BTEN W ool 419 4 el | .76, FyeiferRad 2y ¢ aFyeh oreal @ f7Q Y 97eg qaTSQ
ST E 7 " T U P e
@ = (b) BT (a) T (b) =TEe
(c) iar (d) == () forsma (d) forar
Q0. ST 23 "G P I AT & ? Q77. Frefufad % & B 0 v ST W 2
@) o (b) et @) e (v) feemera
(c) el (d) 37 & PIE 7RI © IuT (d)
Q1. mﬁﬁaﬁﬂiwmmﬁm? Y i N —— i 2
(©) T (d) e () el (b)
(¢ adiRbTHAN  (d) FaYsT
72, AT BITT—
© A1 A2 Q79. FAfT HIfTT— _
(G & o ) (@) R—1(37e3) Rell—2 (%)
A. SR 1. for 7 1l TR S
B aw 2. U9 U £ gj & zg\%zias@
C. 3. qdidd Hsil
PHe: | S
o, ABCD
B 2 1 @ 4 3 2 1
o - b b 4 1 2 3
o, © 2 1 4 3
e | @3 4 1 2
Q73. RIS AT ¥ ST G BT A “treRy o fawy | Q0. T A BT G WS A BN & 2
a1ef I E ? (a) IO
@ e (b) e ®) W
(c) @rd d) &1 (© adbaM
(d) 379 I BIg eI
Q74. guford HIfog—
A1 T2 Q8l. ‘FFIYE T B Al HeT T ?
(EiRTe b fagivor oree) (RS are) (a) cAffaras
A. Hal 1. fagama (b) Sfarad
B 3ICH 2. T H (c) TEdra®
c fre 3. I (&) T & Brg T
D. S3dI 4. fdema _ _
e Q2. fr=feRad # = i w1 wrea Hfef & ?
TABCD ORCERES
@3 1 4 2 (b) T
G 2 3 4 1 (0 "
© 2 3 1 4 (@ Tes
@1 2 3 4
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Q83. f=ferRaa # | &9 A1 ¥Tea gfoei & 2 Q1. frafaRead # & &9 | g UHaa &7
(a) ¥ (b) X () (b) @Y
(c) IR (d) ST | T+ (c) M (d) b3iR c M
Q84 ffafaa # & BF— IS gAfera 8- Q9. BR® fhd bR & B 27
A1 (gfeetT) -2 (Enfer) (@) 6 (b) 7
1. Parl — P () 9 (d) ST & BIg &I
2. — gl
3 T oy Q93. BRI ¥ o HRS Bl USRI S & ST fhar
4. e — R ST 27
T (a) BV PRB (b) THEH HRB
@ 1, 23R 3 (c) T BPR®H (d) B HFRB
b) 2, 3 3R 4
EC)) 1 3 a4 Q94. gAfT HIfTT—
@ 1.2 33%4 FA—1(PRP) -2 (fawf)
A. PBH 1. @
Q85. FreiferRad & & P & e gfeehT T & ? B. ¥ 2. 9
(@) a5 (b)(ﬂﬁ?f C.  JAUrqrd 3 Eﬁ%ﬂ'
©) T (@ &7 9 T D, e 4. @
&
Q86. AT’ ereg T Yool T BT B ? A B CD
(a) el PEIE @1 3 4 2
(c) el (d) 379 | BIg Tl b 4 1 2 3
) 4 3 2 1
Q87. "HHI" TR P 9gadT T & ? @1 2 3 4
() MY (b) AAT AT
(c) A (d) 39 4 PIg & Q95. S WR P T & a1 H B A PRSP & ?
(a) T PR
stﬁﬂﬁ%ﬁﬁﬁaﬁ?wma@m%? (b) eI BRD
(a) T (b) T (c) T BRb
(c) s (&) T & w0 (d) 3MFERT FRE
Q.89. frrafaRad § & o9 9 vsg |qd Ydhaad H T&d § ? Q.96. g R a1 &1 W1 g el U DI AT DRD DHEolldl 27
(@) YD (b) EXTH (a) TEH BRE  (b) AUE HRE
() a3 b  (d) 3ferT (©) T4 BR® (d) BT FRE
Q9. fr=ferRaa # & &9 | g gAfera € ? Q.97. "HRT WIS AT 2", ITRT H B9 AT HRP & ?
(Tpar) — (IgT=m) (@) T PRD
1. AR — IRt (b) BT BRD
2. =l — o (c) SIETPRT FRB
3. Ule® — TSI (d) HII HRD
4, JARWHR — ARBHRY it
@) 1,2 334 Q98. for=ferRae faT v aFe vl & foIv e vree 9ISy
(b) 2 334 A B dTel T I A
© 1,2 3R 4 (a) SfcTsi=
(d) 1,3 3R 4 (b) SFTHT
(c) Sfaar
(d) T & BIg TEl
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Q9. freferiad fag e srier el & forg v ¥1ea WY | 100, Premferiad R v s wreal & T T ¥req aTEU
“RoTEPT 812 g AT Fera Bl ST AR BT Y F ST
(@) PIFT () FHIT
(b) sreed (b) wEerTT
OESESS (c) ToINOT
(d) ez (d) =9 9§ BT e
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